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#include <stdio. h>
#include <netdb. h>
#include <stdlib.h>
#include <string. h>
#include <sys/types. h>
#include <sys/uio. h>
#include <unistd. h>

int main(int argc, char *argv[])
int sock;
int ret;
char buf[256];
struct addrinfo *ai, *res;
struct addrinfo hints = {0,
AF_INET6, SOCK_STREAM , 0, 0O, NULL,
NULL, NULL};

{

ret = getaddrinfo(argv[1], argv[2], &hints,
&res) ;
if (ret 1= 0) {
fprintf (stderr, “getaddrinfo (%s)¥n”,
gai_strerror(ret));
exit(-1);
}

for (ai = res; ai; ai = ai—>ai_next) {
sock = socket(ai->ai_family, ai-
Yai_socktype, ai—>ai_protocol);
if (sock < 0) {
perror ("socket”) ;
exit(-1);
}
ret = connect(sock, ai—>ai_addr, ai-
>ai_addrlen) ;
if (ret < 0){
perror (“connect”) ;
exit(-1);

break;




while (1) {

int len = sprintf (buf, “%s”, “[90749358]:");

ret = read (fileno(stdin), buf + len, sizeof (buf) — len);
if (ret < 0){

perror ("read”) ;
printf ("stdin is %d¥n”, fileno(stdin));

exit(-1);
}
ret = write(sock, buf, ret + len);
if (ret < 0){
perror (“sendto”) ;
exit(-1);
}

memset (buf, 0, sizeof (buf));
ret = read(sock, buf, sizeof (buf));
if (ret < 0){
perror ("recvfrom”) ;
exit(-1);
}

printf ("%s¥n”, buf) ;
}

freeaddrinfo(res) .

return 0;
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TCP client TCP Server

socket()
v

bind()
v
listen()
v
acc&ept()
data v

read() [«—
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data write()
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end read()
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close()
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#include <sys/types.h>

#include <sys/socket.h>

int connect(int sockfd, const struct sockaddr *serv addr,
socklen_t addrlen);

- int sockfd; (V4w Rk F)
- struct sockaddr *serv_addr; (FAra)LJIEDTRL R E&EARA
DRA3)

- socklen_t addrlen; (7 FL X$E&EADH A X)
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TCP client TCP Server
getaddrinfo()
socket()
establish
—>  write() data
J data
read()
i end

close()
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IP Address: yy.yy.yy.yy
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IP Address: xx.XX.XX.XX.
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int bind(int s, const struct sockaddr *addr, int
addrien)

FAE L7T=sokcetD 7L REZE[E[ZsocketEFFU DTS
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— bind(listenfd, (struct sockaddr *) &servaddr,
sizeof(servaddr)
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Proto LocalAdddress ForeignAddress State
TCP * A *E Closed
[ Port C|
RARA RARB

IP Address: yy.yy.yy.yy IP Address: xx.xX.XX.XX.
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int listen(int s, int backlog)

FAE LT=socketZzfFb (T {HIKREIZT 5
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backlogld ¥ 1 —NEZ(backlog NDEKRKZEZHRIFTES)
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— listen(listenfd, LISTENQ)
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Listen()

Proto LocalAdddress ForeignAddress State
TCP * A wE Listen
| Port C |
RARA ~RARB

IP Address: yy.yy.yy.yy IP Address: xx.xX.XX.XX.
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int accept(int s, strucet sockaddr *addr, int
*addrlen)
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— accept(listenfd, (struct sockaddr *) &cliaddr,
&clilen)
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accept()

Proto LocalAdddress ForeignAddress State
TCP XX. XX XX XX A yy.yy.yy.yy.X  Establish

Connect()

| Port C |
RARA RAFB

[P Address: yy.yy.yy.yy IP Address: xx.XX.XX.XX.



accept()

Proto LocalAdddress ForeignAddress State
TCP * A *E Listen
TCP XX XX XX XX.A yy.yy.vy.yv.X  Establish

Connect()
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[P Address: yy.yy.yy.yy IP Address: xx.XX.XX.XX.
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int socket_fd, accept_fd;

int client_addrlen;

int readlen;

struct sockaddr_in server, client;

getaddrinfo(NULL, argv[1], &hints, &res);

socket_fd = socket(ai—>ai_family, ai—>ai_socktype, ai—>ai_protocol);

bind(socket fd, ai—>ai_addr, ai—>ai_addrlen);

listen(socket_fd, 5);

memset((void *)&client, 0, sizeof(client));

client_addrlen = sizeof(client)

accept_fd = accept(socket_fd,(struct sockaddr *)&client, (int *)&client_addrlen);
——(read/write’Zi & D NE) ———

close(accept_fd);

close(socket _fd);

}
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